Training exercises sheet :
Resolve the following equations.

Exercise 1

1) 120 —2 = -8
):2—Tx=-11

): 160 — 17 = 15
4):5:13+6$
):—=16=—-17+Tx
):—15=—14z — 15

): 12462 =140 — 7

) 13249 = 122
):3r—2=4ox—14
4)2—4=—$—3
):—=9—Tr=3x
):—1ldx+5= -9+ 10x



Examples of answers

Exercise 1
(E1) : (E3) :

120 — 2 = -8 16 — 17 =15
120 = —8 + 2 16 = 15 + 17
122 = —6 162 = 32
6 32
- T = —
YT 16
[} ™6 % 2
= — €r =
v 6 x 2 6
1 2
= —— xr = —
x 5 1
(E2) T =2
2 —Tr=—11 (Ey)
Ty =—11-29 5 =13+ 6x
7y = —13 13 +6x =5
o 13 6 =5— 13
7
6xr = —8
8
T = —=
6
x4

—16 =17+ Tx
—17+T7x = —16
Tr =—16+ 17
Tr =1
1
T ==
7
(Es) :
—15 = —14z — 15
—14x — 15 = —15
—14z = —15+ 15
—142 =0
0
:E— —_——
14
rz=20



Exercise 2
(E1) : (E3) :

12+ 6x =142 — 7 3r—2=4x — 14

6 — 140 = -7 — 12 3r —4x = —14+ 2

8z = —19 r =12
19
T8
(B )

132 + 9 = 122 —4=-r-3

132 — 127 = —9 —r—3=-4
—r = —1
r=1

-9 —Tr =3x
—7r—3r=9
—10x =9
x—_g

10

(EG) .
—14x +5=-9+ 10x

—14z — 10z = -9 -5

—24xr = —14

14
24

. X T
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